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N.B. .— (1) All questions are compulsory.

(1) ~Non-programmable calculator and log table is allowed.

(ifi) ~ Symbols have their usual meanings.

MCQ
1. Choose the correct alternative : 10
(1) True power in an a.c. ckt is :
(a) %xcow (b) %X%XCOSQ)
(0 (EmS X Ims) - cos O (d) None of these
(1) In step-up transformer :
(@ N;j =Ny (L) N; > Ny
(0 Ny < N (d) None of these

P.T.O.
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Work done in establishing current in an inductance is, W = ..............

(a)

(0

(2)

1

LI (b)  —=LI2
2

2L (d) 4L

The unit of self-inductance is :

(a)

(0

volt
amp/sec

henry (d)

The hysteresis loop gives the value of :

(a)

Coercive force (b)

(b)  weber/amp

All of these
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(o Both (&) and (b) (d)

Principle of B.G. is :

Residual magnetisation

None of these

q <0

None of these

length (J)

(@ gV (b)
(0 qo £ (d)
The Biot and Savart’s law d—]>3 is directly proportional to :
(a)  distance (r) (b)
(o angle sin 0 (d)

Both (b) and (¢

The magnitude of force on a current carrying conductor is :

(a) F = I/BA (b)
(0 F = I/B cos6 (d)

F IB sin©

F = 1B

The device used to convert a high a.c. voltage into a low a.c. voltage

and vice-versa is called :
(a)  Amplifier (b)

@) Transformer (d)

Oscillator

Choke
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(x) Self-inductance of a solenoid is :
2 NA
(@ L= A (BOSIS RO
1 1
0 Lo MNA O A
2] S &P
Theory
2. Attempt any five of the following : 10

(a) Define efficiency of a transformer.
(b State the relation between true power and apparent power.
(0 Define mutual inductance with its unit.
(d) What do you mean by hysteresis ?
(e State Ampere’s circuital law.
(H Define logrithmic decrement.
(2 State Faraday’s laws of electromagnetic induction.
3. Attempt any two of the following : 10
(a) Describe Owen’s bridge with ckt diagram.
(b) Derive an expression for mutual inductance of a co-axial solenoid.
(0 Decrease construction of moving coil type Ballistic Galvanometer.

(d) When some charge is circulated through B.G., the first and third

throws are 20 cm and 19.8 cm obtained. Calculate the corrected throw.
4, Attempt any one of the following : 10
(a) Explain Biot-Savart’s law with its application to straight conductor.

(b) Describe I-H curve by magnetometer method with neat ckt diagram.
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